60-s bins
1.0 A
0.5 4
0.0
.00.000 .00.000 .00.000
.00:00.0" .00:00- -00:00-
2023_0-,_151'13 2023_0—,_16‘\'00 2023_07_16‘Y06
Time (utc)
60-s bins
1.0 A
0.5 4
0.0
00 . 0 000
:00:000 100:00- :00:00-
2023_07-15118 2023_0—,_16‘\'00 2023_07_16‘“)6
Time (utc)
60-s bins
1.0 A
0.5 4
0.0
.00.000 .00.000 .00.000
.00:00.0" .00:00- -00:00-
2023_07-15118 2023_0—,_16‘\'00 2023_07_16‘“)6

Time (utc)

Latitude

Latitude

Latitude

52.81-ks, 100%

80902505004 FPMB: No SAA Filter

0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0PTIMIZED --tentacle=no 51.85-ks, 98%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 51.85-ks, 98%

=== =

= =]

ey e,

. ;.-__._1:::_

. " "

s

R

o

" o]

T T

200 300 350

Longitude

100

100

100

cts/sec

cts/sec

cts/sec



60-s bins 80902505004 FPMB: No SAA Filter 52.81-ks, 100%

1.0 H °
°
2
S
0.5 8
0.0
.00.000 .00.000 00.000
51180000 ©  (rg0:00" 16706:00
20230713 20230716 20230718 Longitude
Time (utc)
60-s bins --saacalc=1 -saamode=STRICT --tentacle=no 47.81-ks, 91%
. N
., -
1.0 H ° i - “a
3 ™ " .k.l )
' = LN "
05 3 , o,
H‘"n.-'_ll'-q. """-. ™ NN
e e
0.0 == =T
.00.000 .00.000 00.000 150 350
5118:00:00 07 £50:00: 16706:00
20230733 2023-07-16 30716 Longitude
Time (utc)
60-s bins --saacalc=1 -saamode=STRICT --tentacle=yes 47.81-ks, 91%
]
- o
SN
1.0 o YL S .
% LY 11
=1 ' 5
b= = "
0.5 8 S,
=..=‘=H
-
Tl
0.0 T T
0.000 o 0:00.000 06100._00,000 300 350

.00:0
15T18:00° 16T00:00" 16T )
2023-07-Y 2023-07-Y 5023-07-Y Longitude

Time (utc)

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1 °
°
=1
E=
®
0.5 1 -
0.0
.00:00.0 .00.000 100:00.000
2023.07-15“3-“0 23-07-167 002 5.07-16706:0°
Time (utc)
60-s bins
1.0 1 °
°
=1
E=
®
0.5 1 -
0.0
100:00.0 .00.000 100:00.000
2023.07-15“8'00 2307167 00 73071670620
Time (utc)
60-s bins
1.0 1 °
°
=1
E=
®
0.5 1 -
0.0
. 00 .00.000 .00.000
..00.00-0 00:00: .00:00-
2023.07-15“3 2023_07-1600 23_07-16T06

Time (utc)

80902505004 FPMB: No SAA Filter

52.81-ks, 100%

— s
5.0 "-.\"::'M.f"x‘ .
2.5 T T
. T
K . A Y .,
0.0 N N

|
N
[

-5.0

150
Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=no

52.53-ks,

99%

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes

52.53-ks,

99%

P
5.0

N
)

o
<)

|
N
[

",

= R e
T e
R
e e .\.".1-_ oy s
%, ) .

-l.l'_' ":“..

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
©
=]
=
®
0.5 |
0.0 r
.00:00.0 0.000 100:00.000
2023_07.5“3.00.023 6T 02%23_0-,.16‘(06‘00-0
Time (utc)
60-s bins
1.0 1
[
©
=]
=
®
0.5 |
0.0
00:00.0! .00.000 . 0.000
7_023-07.15‘(18-00-023 67100:00:0 3_07.16T06A000
Time (utc)
60-s bins
1.0 1
[
©
=]
=
®
0.5 |
0.0
100.000 .00.000 .00.000
2023_0-,.15T18'.00;:§3_0_’_16100:00.00 507 .16T06"00'00

Time (utc)

u
<)

N
)

o
<)

|
N
[

-5.0

u
<)

N
)

o
<)

|
N
[

5.0

2.5

o
<)

|
N
[

|
w
o

80902505004 FPMB: No SAA Filter

52.81-ks, 100%

e —
T, e,
L8 - 1..::"\_, ‘*‘.{?
h Ty '-"._:':
", "'=.‘\:"-1
L
R
",
Ty B
™
T
T T
300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no 46.29-ks, 88%
— T T e e ]
i ?x‘ T .\_‘Hﬁ:‘:\n \:.,ﬁ
T T W e T T - ey e
T T A N N HQ:
R "'~._' K Y S W
R Fy e, m ™, i i
" . l-'\'a
5 =
e 1‘“-
T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 46.29-ks, 88%

o L, e T i T o e n e,

TN NTTETT
B T T T S

u k "\._= , . -{:

:‘\-\.- -

l-'\'a

L

T

-]

T

350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins 80902505004 FPMB: No SAA Filter 52.81-ks, 100%
e
0
e T T e T
1.0 1 ° 25 . L "'\* Yy
3 R T, .,
.(EU 0.0 " W ‘-...' 1._.‘ -.__1
0.5 1 - e,
25 o ‘*-.1\"‘* "
o - -
-5.0 : :3":;_:'_.';1‘;":':"}
b - 2ot o
0.0 T
.00.0 .00.000 00.000 0 50 100 150
18:00-00 00:0 06:00
7_023-0_"15T 2307167 2 2307367 Longitude
Time (utc)
60-s bins --saacalc=3 -saamode=0PTIMIZED --tentacle=no 52.34-ks, 99%
e
i
L, T
1.0 . e )
K . .kh._‘ Y
0.5 - 5 R
., ", )
b
-~ S
o pa iy
0.0 ' recg
.00.0! .00.000 00.000 300 350
18:00-00 00:0 06:00
7_023-0_"15T 2307167 2307367 Longitude
Time (utc)
60-s bins --saacalc=3 -saamode=0PTIMIZED --tentacle=yes 52.34-ks, 99%
_T,___-q._._-h-_\q—.'—n_—{-..\:-.._ =
5.0 T }x\:“
o =, ", ", T,
1.0 2.5 L S S e, )
3 Ta, T S "'=__~\'-1
S . T T,
£ 00 R
05 3 : . o
-2.5 ..1‘-1,‘
-5.0 e
0.0 —r
.00.000 .00.000 .00.000 350
18:00 -:00 00 00:0! 06:00:
202307517 03.07-167 23-07-167 Longitude

Time (utc)

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
©
=]
=
®
0.5 |
0.0 r
.00:00.0 0.000 100:00.000
2023_07.5“3.00.023 6T 02%23_0-,.16‘(06‘00-0
Time (utc)
60-s bins
1.0 1
[
©
=]
=
®
0.5 |
0.0
00:00.0! .00.000 . 0.000
7_023-07.15‘(18-00-023 67100:00:0 3_07.16T06A000
Time (utc)
60-s bins
1.0 1
[
©
=]
=
®
0.5 |
0.0
100.000 .00.000 .00.000
2023_0-,.15T18'.00;:§3_0_’_16100:00.00 507 .16T06"00'00

Time (utc)

u
<)

N
)

o
<)

|
N
[

-5.0

u
<)

N
)

o
<)

|
N
[

5.0

2.5

o
<)

|
N
[

|
w
o

80902505004 FPMB: No SAA Filter

52.81-ks, 100%

e —
T, e,
L8 - 1..::"\_, ‘*‘.{?
h Ty '-"._:':
", "'=.‘\:"-1
L
R
",
Ty B
™
T
T T
300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no 46.29-ks, 88%
— T T e e ]
i ?x‘ T .\_‘Hﬁ:‘:\n \:.,ﬁ
T T W e T T - ey e
T T A N N HQ:
R "'~._' K Y S W
R Fy e, m ™, i i
" . l-'\'a
5 =
e 1‘“-
T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 46.29-ks, 88%

o L, e T i T o e n e,

TN NTTETT
B T T T S

u k "\._= , . -{:

:‘\-\.- -

l-'\'a

L

T

-]

T

350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



